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SAMPLE QUESTION PAPER
(THEORY)

CHEMISTRY - XI
Time : 3 Hrs. Maximum Marks : 70
General Instructions :
a) All the questions are compulsory.
b) There are 30 questions in total.
c) Questions 1 to 8 are very short answer type questions and carry one mark each.
d) Questions 9 to 18 carry two marks each.
e) Questions 19 to 27 carry three marks each.
f) Questions 28 to 30 carry five marks each.
g) There is no overall choice. However, an internal choice has been provided in one question of two marks,

one question of three marks and all three questions of five marks each. You have to attempt only one of
the choices in such questions.

h) Use of calculators is not permitted. However, you may use log tables if necessary.
Group- A

1. ö#ˆÏã˛Ó˚ xyÎ˚öà%!°ˆÏÜ˛ ï˛yˆÏòÓ˚ xyÎ˚ö#Î˚ Óƒy§yˆÏÂô≈Ó˚ |ôù≈Ü ˛ˆÏü §yçyÄ É                                                                                 1
O2-, Na+, Mg2+, AI3+

Arrange the following species in order of increasing ionic radii.
O2-, Na+, Mg2, Al3+

2. NH4
+ xyÎ˚̂ Ïö öy•zˆÏê˛∆yˆÏçˆÏöÓ˚ §ÇÜ˛Ó˚yÎ˚î xÓfiÌy ˆ°á–                                                                                                         1

Write the state of hybridization of nitrogen in NH+
4

3. ï˛y˛õà!ï˛ !ÓòƒyÓ˚ ≤ÃÌü §)ˆÏeÓ˚ ày!î!ï˛Ü˛ Ó˚)˛õ ˆ°á–                                                                                                                1
Write the mathematical form of first law of thermodynamics.

4. 2H2(g) + O2(g) _ 2H2O(g) ˛                                                                                                                                1
í˛z˛õˆÏÓ˚Ó˚ !Ó!Ü ˛Î˚yÎ˚ ~öê˛∆!˛õÓ˚ Ó,!Âô Óy •…y§ âˆÏê˛ !Ü˛öy ˆ°á–

2H2(g) + O2(g) _ 2H2O(g)
State whether the entropy of the above reaction increases or decreases.

5. 0.001(M) HCI oÓˆÏîÓ˚ pH Ü˛ï˛⁄                                                                                                                               1
What is the pH of 0.001(M) HCI Solution?

6. •zˆÏ°Ü˛ê˛∆ö âyê˛!ï˛Î%=˛ •y•zí»˛y•zˆÏí˛Ó˚ ~Ü˛!ê˛ í˛zòy•Ó˚î òyÄ–                                                                                                        1
Give an example of electron deficient hydride.

7. x˜ÏçÓ ˆÓ!OˆÏöÓ˚ Ó˚y§yÎ˚!öÜ˛ §ÇˆÏÜ˛ï˛ ˆ°á–                                                                                                                       1
Write the chemical formula of inorganic benzene.

8. HC    CH        A ,  ‘A’ §öy=˛ Ü˛Ó˚–                                                                                  1

HC    CH                                   A, identify ‘A’

Group- B
9. 2kg Ca CO3 ˆÜ˛ í˛z_Æ Ü˛Ó˚̂ Ï° STP ÈÙÈˆï˛ Ü˛ï˛ xyÎ˚ï˛ö CO2 ˛õyÄÎ˚y ÎyˆÏÓ àîöy Ü˛Ó˚–                                                     2

Calculate the volume of CO2 at STP that can be obtained by heating of 2 Kg of CaCO3.
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10. i) •%ˆÏ[˛Ó˚ üy!Œê˛!≤’!§!ê˛ §)e ˆ°á–                                                                                                                                        2
State the Hund’s rule of multiplicity.

ii) 26 ˛õÓ˚üyî% Ü ˛üyAÜ˛ !Ó!¢T˛ ˆüÔˆÏ°Ó˚ xÎ%@¬ •zˆÏ°Ü˛ê˛∆ö §Çáƒy !öî≈Î˚ Ü˛Ó˚–

Find the number of unpaired electron in the atom of the element having atomic number 26.
11. NH3 ~ÓÇ NF3 ~Ó˚ üˆÏôƒ ˆÜ˛yö!ê˛Ó˚ !mˆÏüÓ˚% ºyüÜ˛ ˆÓ¢# ~ÓÇ ˆÜ˛ö⁄                                                                                       2

Which of NH3 and NF3 has higher dipole moment and why ?

12. PV = nRT §¡õÜ≈˛!ê˛ ≤Ã!ï˛¤˛y Ü˛Ó˚– S!ã˛•´à%!° ≤Ãã˛!°ï˛ xÌ≈ Ó•ö Ü˛ˆÏÓ˚V                                                                                   2
Derive the relation : PV = nRT (Symbols have their usual meanings).

13. flõ¡õÜ≈˛!ê˛ fiÌy˛õö Ü˛Ó˚–                                                                                                                                                 2
H = U + ng RT

Establish the relation
H = U + ng RT

14. 400 K ï˛y˛õüyeyÎ˚ñ N2(g)+3 H2(g)  2NH3(g) ˛!Ó!Ü ˛Î˚y!ê˛Ó˚ ˆ«˛ˆÏe Kp=41; ˛~Ü˛•z ï˛y˛õüyeyÎ˚                                         2
!öˆÏ¡¨Ó˚ !Ó!Ü ˛Î˚yà%!°Ó˚ Kp-Ó˚ üyö !öî≈Î˚ Ü˛Ó˚–

i) 2NH3(g)  N2(g) + 3H2(g)
ii)     N2 +     H2(g)  NH3(g)
For the reaction, N2(g)+3H2(g)  2NH3(g) at 400 K, Kp = 41. Find the value of Kp for each of the
following reactions at the same temperature.
i) 2NH3(g)  N2(g) + 3H2(g)
ii)      N2(g) +      H2(g)  NH3(g)

OR
˛!öˆÏ¡¨Ó˚ !Ó!Ü ˛Î˚y!ê˛ˆÏï˛ !fiÌÓ˚ ï˛y˛õüyeyÎ˚ ã˛yˆÏ˛õÓ˚ ≤Ãû˛yÓ ~ÓÇ Ü ˛üyàï˛ HI x˛õ§y!Ó˚ï˛ Ü˛Ó˚̂ Ï° §yüƒyÓfliyÓ˚ í˛z˛õÓ˚ !Ü˛Ó˚)˛õ ≤Ãû˛yÓ ˛õˆÏí ¸̨ Óƒyáƒy Ü˛Ó˚–

H2(g)+I2(g)  2HI(g)                                                                                                                                 2
Explain the effect of pressure and continuous removal of HI at constant temperature on the
position of equilibrum of following reaction : H2(g)+I2(g)  2HI(g)

15. ‘10 ˛xyÎ˚ï˛ö ˛H2O2’ ˛oÓˆÏîÓ˚ üyey @ˇÃyü‡ !°ê˛yˆÏÓ˚ !öî≈Î˚ Ü˛Ó˚–                                                                                                2
Calculate the strength in g/L of 10 volume of solution of H2O2.

16. §°ˆÏû˛ ˛õÂô!ï˛ˆÏï˛ K2CO3 ˛≤Ã›ï˛ Ü˛Ó˚y ÎyÎ˚ öyÈÙÈ Óƒyáƒy Ü˛Ó˚–                                                                                                  2
K2CO3 can’t be prepared by Solvay’s process. Explain.

17. ˛≤ÃˆÏï˛ƒÜ˛!ê˛Ó˚ ~Ü˛!ê˛ Ü˛ˆÏÓ˚ í˛zòy•Ó˚î §• ö#ˆÏã˛Ó˚ !Ó!e´Î˚yà%!° !ÓÓ,ï˛ Ü˛Ó˚–                                                                                       2
i) ˛û˛yç≈ !Ó!Ü ˛Î˚y

ii) ˛!ú ˛ˆÏí˛° Ü ˛yú‰˛ê˛ xƒy°Ü˛y•zˆÏ°¢yö !Ó!Ü ˛Î˚y–

State with one example each of the following :
i) Wurtz reaction and ii) Friedel Crafts alkylation reaction.

18. ÄˆÏçyö à•ùÓ˚ !Ü˛ û˛yˆÏÓ ˜ï˛Ó˚# •Î˚ Óƒyáƒy Ü˛Ó˚–                                                                                                                     2
Explain the formation of ozone hole.

Group- C
19. i) xƒyˆÏû˛yàyˆÏí»˛y §)e!ê˛ !ÓÓ,ï˛ Ü˛Ó˚–                                                                                                                                    3

ii) ˛ˆüy°y!Ó˚!ê˛ ~ÓÇ ˆüy°y!°!ê˛ ~Ó˚ üˆÏôƒ ˛õyÌ≈Ü˛ƒ ˆ°á–

1
2

3
2
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i) State Avogadro law.
ii) Differentiate between molarity and molality.

Group- C
20. i) n=3 ˛~ÓÇ l =1, ˆÜ˛yÎ˚yrê˛yü §ÇáƒyÓ˚ §y•yˆÏÎƒ Ü˛«˛Ü˛!ê˛ !öˆÏò≈¢ Ü˛Ó˚–                                                                                     3

ii) ˛•y•zˆÏí»˛yˆÏçö ˛õÓ˚üyî%Ó˚ ≤ÃÌü Ü˛ˆÏ«˛Ó˚ ¢!=˛ 2.17 x 10 -18 J/ xƒyê˛ü‰ •ˆÏ° ~Ó˚ ˛õM˛ü Ü˛ˆÏ«˛Ó˚ ¢!=˛ Ü˛ï˛ •ˆÏÓ !öî≈Î˚ Ü˛Ó˚–

i) Indicate the orbital with the following quantum numbers n=3, I = 1
ii) Calculate the energy associated with the 5th orbital of hydrogen atom if the energy
associated with the 1st orbit be 2.17 x 10 -18 J/atom.

21. ˛Ü˛yÓ˚î Óƒyáƒy Ü˛Ó˚–                                                                                                                                                        3
i) ˛ˆúœ̨ y!Ó˚̂ ÏöÓ˚ •z°Ü˛ê˛∆ö xy§!=˛ ˆÌˆÏÜ˛ ˆÜœ̨ y!Ó˚̂ ÏöÓ˚ •zˆÏ°Ü˛ê˛∆ö xy§!=˛ ˆÓ¢#–

ii) ˛~Ü˛!ê˛ Ü˛ƒyê˛yÎ˚̂ ÏöÓ˚ xyÜ˛yÓ˚ ~Ó˚ !öhflÏ!í ¸̨Í ˛õÓ˚üyî% xˆÏ˛õ«˛yÎ˚ «%˛oï˛Ó˚–

iii) ˛Be ˛~Ó˚ ≤ÃÌü xyÎ˚öö !Óû˛Ó B ˛~Ó˚ xyÎ˚öö !Óû˛Ó xˆÏ˛õ«˛y ˆÓ¢#ñ !Ü˛v Be ˛~Ó˚ !mï˛#Î˚ xyÎ˚öö !Óû˛Ó B ˛~Ó˚ !mï˛#Î˚

xyÎ˚öö !Óû˛Ó xˆÏ˛õ«˛y Ü˛ü–

Explain why :
i) Electron affinity of chlorine is greater than that of fluorine.
ii) The size of a cation is smaller than that of the corresponding neutral atom.
iii) The first ionization enthalpy of Be is greater than that of B. But the 2nd ionization enthalpy
    of Be is less than that of B.

22. ˛!ö¡¨!°!áï˛à%!°Ó˚ xyˆÏ˛õ!«˛Ü˛ fiÌy!Î˚̂ ÏcÓ˚ ï%˛°öy Ü˛Ó˚ ~ÓÇ ï˛yˆÏòÓ˚ ã%˛¡∫Ü˛ ôü≈ í˛zˆÏÕ‘á Ü˛Ó˚–                                                                3
O2, O2

+, O2
- ˛~ÓÇ O2

2-

Compare the relative stability of the following species and indicate their magnetic properties.
O2 , O2

+ , O2 
- , O2

2-

23. i) ˛õ,¤˛ê˛yˆÏöÓ˚ §ÇK˛y òyÄ–                                                                                                                                               3
ii) 373K ï˛y˛õüyeyÎ˚ ~Ü˛!ê˛ ò%•z !°ê˛yÓ˚ úœ̨ yˆÏflÒ 0.4 @ˇÃyü 02 ˛~ÓÇ 0.6 ˛@ˇÃyü H2 Ó˚yáy xyˆÏåÈ– ˙ úœ̨ yˆÏflÒÓ˚ àƒy§ !ü◊ˆÏîÓ˚ ˆüyê˛ ã˛y˛õ

!öî≈Î˚ Ü˛Ó˚–

i) Define surface tension
ii) A 2 litre flask contains 0.4 gm of O2 and 0.6 gm of H2 at 373K. Calculate the total pressure of the
gas mixture in the flask.

24. i) ≤Ãüyî àë˛öÈÙÈ ï˛yˆÏ˛õÓ˚ §ÇK˛y òyÄ–                                                                                                                                  3
ii) ˛298 K ˛ï˛y˛õüyeyÎ˚ CH4, ˛!üˆÏÌöñ @ˇÃyú˛y•zê˛ ~ÓÇ í˛y•zÈÙÈ •y•zˆÏí»˛yˆÏçˆÏöÓ˚ ò•ö ï˛y˛õ ÎÌyÜ ˛ˆÏü - 890.3 KJ/˛ˆüy°ñ È- 393.5 KJ/
˛ˆüy° ~ÓÇ - 285.5 KJ/ ˆüy°– !üˆÏÌˆÏöÓ˚ àë˛öÈÙÈï˛y˛õ !öî≈Î˚ Ü˛Ó˚–

i) Define standard enthalpy of formation.
ii) The enthalpy of combustion of methane, graphite and dihydorgen at 298K are - 890.3 KJ/mol, -393.5
KJ/ mol and - 285.5 KJ/ mol respectively. Find the enthalpy of formation of methane.

OR
i) ˛~öê˛∆!˛õÓ˚ §ÇK˛y òyÄ–                                                                                                                                                3
ii) 2A(g) + B(g) _ 2D(g)

˛~•z !Ó!Ü ˛Î˚yÎ˚ 298 K ˛ï˛y˛õüyeyÎ˚ U0 = - 10.5 KJ/ ˆüy° ~ÓÇ S0 = - 44.1 JK -1 Mol-1. G0 !öî≈Î˚ Ü˛Ó˚ ~ÓÇ !Ó!Ü ˛Î˚y!ê˛

fl∫ï˛Éfl≥)˛ï≈˛ û˛yˆÏÓ §Çâ!ê˛ï˛ •ˆÏÓ !Ü˛öy Ó°–

i) Define entropy.
ii) For the reaction at 298 K, 2A(g) +B(g) _ 2D(g), U0 = -10.5 KJ/mol and S0 = 44.1JK-1, Calculate
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G0 for the reaction, and predict whether the reaction may occur spontaneously.
25. ˛ö#ˆÏã˛Ó˚ §ü#Ü˛Ó˚îà%!°Ó˚ §üï˛y !Óôyö Ü˛Ó˚–                                                                                                          3 (1+1+1)

i) Cu + HNO3 _ Cu(NO3)2 + NO + H2O (˛çyÓ˚î §ÇáƒyÓ˚ ˛õÂô!ï˛ˆÏï˛V

ii) Cr2O7
2- + C2O4

2- _ Cr3+ + CO2 (xy!¡‘Ü˛ üyôƒˆÏü xyÎ˚öÈÙÈ•zˆÏ°Ü˛ê˛∆ö ˛õÂô!ï˛ˆÏï˛V

iii) MnO4
- + I-➝ MnO2 + I2 («˛yÓ˚#Î˚ üyôƒˆÏü xyÎ˚ö •zˆÏ°Ü˛ê˛∆ö ˛õÂô!ï˛ˆÏï˛)

Balance the following equations :
i) Cu + HNO3 _ Cu(NO3)2 + NO + H2O  (By oxidation number method)
ii) Cr2O7

2- + C2O4
2- _ Cr3+ + CO2  (By ion-electron method in acidic medium)

iii) MnO4
- + I-➝ MnO2 + I2  (By ion-electron method in basic medium)

26. i) ˛Óyflõ#Î˚ xÓfiÌyÎ˚ BeCl2 ~Ó˚ àë˛ö xÇÜ˛ö Ü˛Ó˚–                                                                                              3 (1+1+1)
ii) ˛Ú≤’yfiê˛yÓ˚ xÓ ˛õƒy!Ó˚§Û ≤Ã›!ï˛Ó˚ Ó˚y§yÎ˚!öÜ˛ §ü#Ü˛Ó˚î ˆ°á–

iii) Be ˛~ÓÇ Mg ˛Ó˚Aà#ö !¢áy ˆòÎ˚ öy ˆÜ˛ö⁄

i) Draw the structure of BeCl2 in vapour phase.
ii) Write the chemical equation for the preparation of Plaster of Paris.
iii) Why do not Be and Mg give coloured flame?

27. i) ̨ !Óí˛zê˛ÈÙÈ2ÈÙÈxy•zö ~ÓÇ !Óí˛zê˛ÈÙÈ1ÈÙÈxy•zö ~Ó˚ ̨ õyÌ≈Ü˛ƒ !öÓ˚*˛õˆÏîÓ˚ ~Ü˛!ê˛  Ó˚y§Î˚!öÜ˛ ̨õÓ˚#«˛y ̂ °á–                                                  3 (1+1+1)
ii) - OH ˛~ÓÇ - NO2 @ˇÃ%ˆÏ˛õÓ˚ üˆÏôƒ ˆÜ˛yö!ê˛ xˆÏÌ≈yÈ xÌÓy ˛õƒyÓ˚y !öˆÏò≈¢Ü˛–

iii) ˛~Ü˛!ê˛ xƒy°!Ü˛ö ‘A’ ˛ÄˆÏçyˆÏöy°y•z!§§ !Ó!Ü ˛Î˚yÎ˚ ˆÜ˛Ó°üye •zÌyöƒy° í˛zÍ˛õß¨ Ü˛ˆÏÓ˚– ‘A’ ˛§öy=˛ Ü˛Ó˚–

i) Write one chemical test to distinguish between But-2-yne and But-1-yne.
ii) Which one out of -OH and -NO2 is an ortho or para directing group.
iii) An alkene ‘A’ on ozonolysis gives only ethanol, identify A.

Group- D
28. i) ˛Óyú˛yÓ˚ oÓˆÏîÓ˚ §ÇK˛y òyÄ– ~Ü˛!ê˛ x!¡‘Ü˛ Óyú˛yˆÏÓ˚Ó˚ í˛zòy•Ó˚î òyÄ–                                                                       5 (2+1+2)

ii) ˛çˆÏ°Ó˚ xyÎ˚ö#Î˚ à%îú˛° Ü˛yˆÏÜ˛ ÓˆÏ°⁄

iii) 25oC ˛ï˛y˛õüyeyÎ˚ Mg(OH)2 ~Ó˚ oyÓƒï˛y à%îú˛° 1.4 x 10-11–˛~Ó˚ oyÓƒï˛y @ˇÃyü‡!°ê˛yÓ˚ÈÙÈ~ !öî≈Î˚ Ü˛Ó˚–

(Mg (OH)2 ˛~Ó˚ ˆüy°Ó˚ û˛Ó˚ = 58)
i) Define buffer solution. Give one example of acidic buffer.
ii) What is ionic product of water?
iii) At 25oC solubility product of Mg(OH)2 is 1.4 x 10-11, find its solubility in terms of g/L
(Molar mass of Mg (OH)2 = 58

OR
i) ˛Úx§ÄÎ˚yˆÏ”˛Ó˚ °â%ï˛yÛ §)e!ê˛ !ÓÓ,ï˛ Ü˛Ó˚ ~ÓÇ ~Ó˚ ày!î!ï˛Ü˛ Ó˚)˛õ ≤Ã!ï˛¤˛y Ü˛Ó˚–                                                                5 (3+2)
ii) 250C ˛ï˛y˛õüyeyÎ˚ çˆÏ°Ó˚ xyÎ˚ö#Î˚ à%îú˛° 1 x 10-14, ˛˙ ï˛y˛õüyeyÎ˚ çˆÏ°Ó˚ !ÓˆÏÎ˚yçö ô %ÓˆÏÜ˛Ó˚ üyö !öî≈Î˚ Ü˛Ó˚–

i) State Ostwald’s dilution law and derive its mathematical form.
ii) At 25oC, ionic product of water is 1 x 10-14, find its dissociation constant at the same temperature.

29.(a) ˛Ü˛yÓ˚î ò¢≈yÄ                                                                                                                                        5 (3+2)
i) ˛xöyo≈ AICI3 ˛§üˆÏÎyç# ˆÎÔà !Ü˛v ˆ§yòÜ˛ AICI3 ˛ï˛!í ¸̨ÍÈÙÈˆÎyç#–

ii) ˛ˆÓy!Ó˚Ü˛ xƒy!§í˛ °%•z§ xƒy!§ˆÏí˛Ó˚ öƒyÎ˚ xyã˛Ó˚î Ü˛ˆÏÓ˚ñ

iii) ˛ˆÌ!°Î˚yˆÏüÓ˚ +1 ˛çyÓ˚îhflÏÓ˚ í˛z•yÓ˚ +3 ˛çyÓ˚îhflÏÓ˚ xˆÏ˛õ«˛yÓ˚ ˆÓ¢# §%!fiÌÓ˚–
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(b) ˛ö#ˆÏã˛Ó˚ !Ó!Ü ˛Î˚yà%!° §¡õ)î≈ Ü˛Ó˚–

i) Na2B4O7 + 2HCl + 5H2O _ ?
ii) Sio2 + NaOH _ ?

(a) Give reasons :
i) Anhydrous AICI3 is covalent but hydrated AICl3 is electrovalent.
ii) Boric acid behaves as Lewis acid.
iii) The +1 oxidation state of thallium is more stable than +3 oxidation state.

(b) Complete the following
i) Na2B4O7 + 2HCl + 5H2O _ ?
ii) SiO2 + NaOH _ ?

OR
c) Ü˛yÓ˚î ò¢≈yÄ–

˛i) §yôÓ˚î ï˛y˛õüyeyÎ˚ CO2 ˛àƒy§ !Ü˛v SiO2 ˛Ü˛!ë˛ö–

ii) SiCl4 ˛~Ó˚ xyo≈ !ÓˆÏŸ’£Ïî •Î˚ !Ü˛v CCl4 ~Ó˚ ï˛y •Î˚ öyñ

iii) ˛xƒy°%!ü!öÎ˚yü ˛õyˆÏe àyì ¸̨ HNO3 Ó˚yáy ÎyÎ˚–

˛c) Give Reason :

i) CO2 is gas but SiO2 is solid at room temperature.
ii) Silicon tetrachloride undergoes hydrolysis but carbon tetrachloride does not.
iii) Concentrated HNO3 can be stored in aluminium container.

30. (a) IUPAC ˛õÂô!ï˛ˆÏï˛ öyü ˆ°á É

i) CH3 - CH - COOCH2 CH2 - CH3

ii) CH ≡ C-CH2 = CH - CH3

(a) Write IUPAC names of the following :

i) CH3 - 
Cl

l

C
 - COOCH2 CH2 - CH3

ii) CH ≡ C-CH2 = CH - CH3

(b) i) fiÌy!Î˚̂ ÏcÓ˚ |ôù≈Ü ˛ˆÏü §yçyÄ É CH3 C
+

H - CH3 , CH2 = CH - C
+

H2, CH3 - CH2 - C
+

H2

ii) !ö¡¨!°!áï˛à%!° ˆÜ˛yö ˆ◊î#Ó˚ §üyÓÎ˚Óï˛y !öˆÏò≈¢ Ü˛ˆÏÓ˚

CH3 - CH2 - CHO, CH3 COCH3

iii) xƒy!§!ê˛Ü˛ xƒy!§í˛ ~ÓÇ ˆÜœ̨ yˆÏÓ˚y xƒy!§!ê˛Ü˛ xƒy!§ˆÏí˛Ó˚ üˆÏôƒ ˆÜ˛yö!ê˛ ˆÓ¢# xy!¡‘Ü˛–

Sb) i) Arrange the following in increasing order of stability

CH3 C
+

H - CH3 , CH2 = CH - C
+

H2, CH3 - CH2 - C
+

H2

ii) Name the type of isomerism exhibited by the following compounds :
CH3 - CH2 - CHO,     CH3 - CO - CH3

iii) Which one of the following is more acidic : Acetic Acid and Chloro acetic Acid
OR

(a) ˛!ö¡¨!°!áï˛à%!° ~Ü˛!ê˛ Ü˛ˆÏÓ˚ í˛zòy•Ó˚î §• Óƒyáƒy Ü˛Ó˚–                                                                                    5 (2+1+2)
i) •y•z˛õyÓ˚ Ü˛öç%ˆÏà¢yö

ii) •zˆÏ°Ü˛ˆÏê˛∆y ú˛y•z°

(a) ˛Explain the following with an example :
i) Hyperconjugation and
ii) Electrophile
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Sb) HCONHCH3ÈÙÈ~Ó˚ üˆÏôƒ Ü˛Î˚!ê˛ !§à‰üy ~ÓÇ Ü˛Î˚!ê˛ ˛õy•z Órôö xyˆÏåÈ⁄

(b) Write the number of sigma-bonds and    -bonds in   HCONHC3

(c) ˛öy•zˆÏê˛∆yˆÏçö Î%=˛ ˜çÓ ˆÎyˆÏàÓ˚ °ƒy§y•zö ˛õÓ˚#«˛yÎ˚ §Çâ!ê˛ï˛ !Ó!Ü ˛Î˚yà%!° ˆ°á–

(c) Write the chemical reactions involved in Lassaign’s test of organic compound having nitrogen.
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